3rd- June 6-9,

2022-Week #1

Monday Tuesday Wednesday Thursday
3x1= 4x1= 5x1= 6x1=
3x2= 4x2= 5x2= 6x2=
3x3= 4x3= 5x3= 6x3=
3x4= 4x4= 5x4= 6x4=
3x5= 4x5= 5x5= 6x5=
Round 480 to the | Round 480 to the |Round 525 to the | Round 525 to the
nearest 10. nearest 100. nearest 10. nearest 100.
Add. Add. Add. Add.
245 + 328 = 59cm + 30cm = 509cm + 83cm = | 480g + 4769 =

An author writes 9
pages of her book
each week. How

many pages does

Mrs. Gonzales buys
a total of 32
crayons for her
classroom. Each

Hannah has $500.
She buys a camera
for $435 and 4
other items for $9

There are 6 blades
on each windmill.
How many total
blades are on 7

she write in 7 pack contains 8 each. Now Hannah | windmills?
weeks? crayons. How many | wants to buy

packs of crayons speakers for $50.

does Mrs. Does she have

Gonzales buy? enough money to

buy the speakers?

8 ~4= 12 4= 16 -4 = 20 = 4=
12 + 3 = 15+ 3= 18 -3 = 24 - 3=
10 +-5= 20+5= 15+ 5= 25+5=
15 + 3= 18 + 3= 21 =+ 3= 9 +3=
18 + 2 = 20+ 2= 16 ~ 2 = 14 + 2=




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- June 13-16, 2022- Week #2

Monday Tuesday Wednesday Thursday
3X6 = 4x6= 5x6= 6X6 =
3x7= 4x7= 5x7= 6x7=
3x8= 4x8= 5x8= 6x8=
3x9-= 4x9= 5x9= 6x9-=
3x10= 4x10 = 5x10 = 6x10=

Round 750 to the

Round 750 to the

Round 1,297 to

Round 1,297 to

nearest 10. nearest 100. the nearest 10. the nearest 100.

Solve. Solve. Solve. Solve.

(9x5)-2= 9x(6-2)= 8+(6-95)= 8+6)-5=
Juanita organizes Mark spends $27 Lonna buys 3 Miss. Reynolds

her magazines into
3 different piles.

on some plants.
Each plant costs

T-shirts for $8 each.
How much does

uses a total of 32
cups of flour to

She has a total of $9. How many she spend on bake some bread.
18 magazines. How plants did Mark T-shirts? Each loaf of bread
many magazines buy? takes 4 cups. How
are in each pile? many loaves of
bread did Miss.
Reynolds bake?
10 = 5= 15 =+ 5= 25 + 5= 30 = 5=
12 -6 = 18 -6 = 24 -6 = 30 +-6=
8+4= 12 +4 = 16 - 4 = 20+4 =
9 +3= 15 + 3= 18 =3 = 21 =+ 3=
20+2= 22 2= 24 - 2= 2+2=




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- June 20-23, 2022-Week #3

Monday Tuesday Wednesday Thursday
2x1= 3x11= 4x11= 5x11 =
2Xx2= 3x12 = 4x12 = 5x12 =
2Xx3= 2X6= 2x9= 2x12 =
2x4= 2x7= 2x10= 6x11=
2x5= 2x8= 2x11 = 6x12=

Round 681 to the

Round 681 to the

Round 1,865 to

Round 1,865 to

nearest 10. nearest 100. the nearest 10. the nearest 100.
Subtract. Subtract. Subtract. Subtract.
507 - 345 = 700 - 378 = 209 -111 = 8,006 - 967 =

Pedro buys 4 books
at the fair for $7
each. How much
does Pedro spend

On field day the 1st
grade dash is 25
meters long. The
3rd grade dash is

A parking lot has
space for 48 cars.
Cars can park in
rows of 6. How

Each student gets 3
pencils. There are
a total of 21

pencils. How many

on books? twice as long. How | many rows are in students are there?
long is the 3rd the parking lot?
grade dash?

14 =7 = 21 +7 = 28 +7= 35+7=

24 -6 = 30 +-6= 36 +~6= 42 -6 =

25 +5= 30 +-5= 35+5= 40 - 5=

28 4= 32 + 4= 36 4= 40 -4 =

5+1= 6+1= 7+1= 8+1=

My Work




Monday

Tuesday

Wednesday

Thursday




3rd- June 27-30, 2022-Week #4

Monday Tuesday Wednesday Thursday
7x1= 8x1= 9x1= 10x1=
7x2= 8x2= 9x2= 10x2=
7x3= 8x3= 9x3= 10x3=
7x4= 8x4 = 9x4= 10x4 =
7x5= 8x5= 9x5= 10x5=

Round 156 to the

Round 156 to the

Round 342 to the

Round 342 to the

nearest 10. nearest 100. nearest 10. nearest 100.
Add. Add. Add. Add.
1,976 + 12,099 = (7,321 + 9,877 = 98+ 77+ 34 = 345 + 32 + 702 =

Henry spends 24
minutes practicing
6 different
basketball drills.
He spends the
same amount of

Jessica has 8
pieces of yarn for
a project. Each
piece is 6 cm
long. What is the
total length of the

Ginny measures
6ml of water into
each beaker. She
pours a total of 54
ml. How many
beakers does

Three boys and
three girls each
buy 7 bookmarks.
How many
bookmarks do
they buy

time on each drill. yarn? Ginny use? altogether?
How much time

does Henry spend

on each drill?

42 7 = 49 ~ 7 = 56 -7 = 63 +7=

48 -6 = 54 -6 = 60 +~ 6 = 66 ~ 6=

45 +- 5= 50+~ 5= 55+ 5= 60 +~5=

44 +4 = 48 +4 = 4 +4= 12 ~ 4=

12 12 = 9+9= 6+2= 5+5=




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- July 4-7, 2022-Week #5

Monday Tuesday Wednesday Thursday
7X6 = 8Xx6 = 9x6 = 10x6 =
7TX7= 8x7= 9x7= 10x7=
7x8= 8x8= 9x8= 10x8 =
7x9= 8x9= 9x9= 10x9=
7x10 = 8x10 = 9x10 = 10x10 =

Round 217 to the
nearest 10.

Round 217 to the
nearest 100.

Round 727 to the
nearest 10.

Round 727 to the
nearest 100.

Seven friends
equally share the
cost of a $56

Mr. Lucas divides
28 students into 7
equal groups for a

Caroline baked a
sheet of 20
chocolate chip
cookies to share

Leo has 33 pieces
of candy left over
from Halloween.

meal. How much project. How ) , If he gives 14
does each person | many students r‘:" ith 4 friends. If | | pieces away to his
pay? are in each she gave an equal | giands, how many
o amount of cookies . f d
group: to each friend, how | P'€C€s Of candy
many did each get? does he have left?
(Hint: Don’t forget
to remember
Caroline!)
Solve. Solve. Solve. Solve.
(7+6)x3= 7+(6x3)= (12-8)+2= 12- (8 + 2)=
18 - 9= 27 + 9= 36 +9= 45 +~9 =
80 +8= 88 -8 = 72 +-8= 64 -8 =
36 +3= 33 +3= 30+ 3= 27 + 3=
40 - 10 = 50 - 10 = 60 - 10 = 70 =10 =
55 +11 = 33 +11= 11 +11 = 77 +11 =




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- July 11-14,2022 -Week #6

Monday Tuesday Wednesday Thursday
7x11= 8x11 = 9x11 = 10x11 =
7x12 = 8x12 = 9x12= 10x12 =
1M1 x1= MM x4= Mx7= 11 x10=
M x2= MM x5= 11 x8= MM x11=
1M x3= 1M1 x6= 11 x9= MM x12=
Round 492 to the | Round 492 to the |Round 1,211 to Round 1,211 to
nearest 10. nearest 100. the nearest 10. the nearest 100.
Jared built 8 Eva went sledding Taylor buys 7 pairs

snowmen and he
used 2 sticks for
the arms of each

for 3 hours. If she
went down the hill 8
times each hour,

Ashton had 2 boxes
of pencils with 14
pencils in each box.

of mittens for her
family. How many
individual mittens

snowman. How how many times did | How many pencils | did she buy?
many sticks did Eva go down the did Ashton have

Jared use in all? hill? altogether?

Solve. Solve. Solve. Solve.
7+(6+4)= (7+6)+4= 3+ (2x5)= (3+2)x5=
54 -9 = 63 +9= 72 +9= 81 +9=
72 +8= 80+ 8= 88 ~ 8= 96 +~ 8 =
30+3= 33+3= 36 +3= 15+ 3=
100 + 10 = 90 + 10 = 80 +10= 60 + 10 =
99 +11 = 22 +11= 88 +11 = 55 +11 =




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- July 18-21, 2022-Week #7

Monday Tuesday Wednesday Thursday
12x1= 12x6 = 12x11 = 4x8=
12x2= 12x7 = 12x12 = 3x9=
12x3 = 12x8= 7x2= 2x11=
12x4 = 12x9= 8x6= 9x9=
12x5= 12x10 = 5x5= 7xX7=

What is the value of
the bold digit?

What is the value of
the bold digit?

What is the value of
the bold digit?

What is the value of
the bold digit?

786 321 965 1,248
Solve. Solve. Solve. Solve.
8x(5-4)= (8x5)-4= (4x2)x2= 4x(2x2)=
At the Tasty Bakery Patty and Carl went Sally tosses a coin. Jasmine counts 158

cupcakes cost .50
cents each. Bagels
cost $1.25. How
much more do two
bagels cost than two

to the movies. Patty
bought two movie
tickets for $7.35
each. Carli bought
two buckets of

She tosses 85 heads
and 76 tails. How
many times was the
coin tossed?

cars going to school.
She counts 123 cars
going back home.
How many cars did
Jasmine count

cupcakes? popcorn for $5.60 altogether?

each. How much

more did Patty spend

than Carl?
12 +-3= 15+ 3= 30+3= 36 +~3=
56 - 8= 96 -~ 8 = 64 -8 = 40 - 8 =
20+-4= 16 - 4 = 24 +4 = 28 +4 =
49 + 7 = 56 -7 = 63 7= 70 +7=
10 5= 25+5= 35 +5= 45 -5 =




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- July 25-28, 2022-Week #8

Monday Tuesday Wednesday Thursday
4x4-= 4x5= 4Xx6= 4x7=
5x6= 5x7-= 5x8= 5x9-=
9x3= 9x4 = 9x5= 9x6 =
10x 10 = 10x11 = 10x12 = M x12=
12x3= 12x4 = 12x5= 12x6 =

What is the value
of the bold digit?

What is the value
of the bold digit?

What is the value
of the bold digit?

What is the value
of the bold digit?

7,405 907 10,743 21,097
Subtract. Subtract. Subtract. Subtract.
1,002 - 529 = 17,329 -18 = 57,098 - 749 = 2,901 -632 =

A toy store has 15
toy trucks. If they
are arranged in
stacks of 3, how
many stacks will
there be in all?

A chef cooked up
6 plates of
seafood. There
were three shrimp
on each plate.
How many shrimp

There are four
rows of desks and
each row has
seven desks in it.
How many desks
are there total?

Courtney has 30
rings that she
wants to sell. She
puts them in
packs of 5 rings.
How many packs

did the chef did she sell?
prepare?
8+2= 14 + 2= 16 -2 = 22 -2 =
12 +4 = 20+4= 28 + 4 = 32+4-=
18 + 6 = 36 +~6= 48 -6 = 66 ~ 6=
64 -8 = 16 ~- 8 = 40 - 8 = 48 - 8 =
36 +12 = 60 12 = 72 +12 = 84 12 =

My Work




Monday

Tuesday

Wednesday

Thursday




3rd- August 1-4, 2022-Week #9

Monday Tuesday Wednesday Thursday
2x4 = 3x4= 4x4= 5x4=
3x9= 3x10= 4x10 = 5x10=
5x12= 12x6 = 12x7 = 12x8 =
9x8= 9x9= 9x 11 = 9x12=
7x4= 7x5= 7x6= 7TX7=

1 1

Represent —-on | Represent—-on | Represent —on |Represent —-on

the number line.

the number line.

the number line.

the number line.

A toy store has 48
toy trucks. If they
are arranged in
rows of 6, how
many rows will

In a parade 15
dancers arranged
themselves into 3
rows. How many
dancers were in

Garrett has 9
baseballs. Turner
has 6 times as
many. How many
baseballs does

Megan has 10
cats. Kadence
has 12 times as
many cats as
Megan. How

there be? each row? Turner have? many cats does
Kadence have?

Round 432 to the | Round 1,395 to Round 3,278 to Round 562 to the

nearest hundred. [the nearest the nearest nearest hundred.

hundred. hundred.

11 +1= 12 +1= 81 +1= 17 = 1=

36 +3= 33+3= 27 -3 = 24 - 3=

45 + 5= 30 5= 5+56= 60 - 5=

28 7= 49 = 7 = 35+7= 56 +7=

72 +9 = 81 +9= 90 +9 = 108 -9 =




My Work

Monday

Tuesday

Wednesday

Thursday




3rd- August 8-11, 2022-Week #10

Monday Tuesday Wednesday Thursday
12x12 = 7TX7= 2x2= 12x4 =
Mx11= 6x6= 6x3= 12x5=
10x 10 = 5x5= 8x3= 12x6 =
9x9= 4x4= 9x3= 12x7=
8x8= 3x3= 12x3 = 12x8=

3
Represent 7 on

the number line.

2
Represent —on

the number line.

5
Represent S on

the number line.

3
Represent = on

the number line.

Grandpa gave
each of his eight
grandchildren $7
each. How much
did he give his
grandchildren?

Farmer Joe has
six times more
pigs than Farmer
Emee. Farmer
Emee has nine
pigs. How many
pigs does Farmer
Joe have?

Aniya has 12
times more books
than Tristan has.
Tristan has 3
books. How
many books does
Aniya have?

Lisa paid $81 for
nine tickets to see
a play. How much
did Lisa pay for
each ticket?

Round 78 to the
nearest ten.

Round 521 to the
nearest hundred.

Round 854 to the
nearest hundred.

Round 451 to the
nearest hundred.

14 -7 =
72 - 8=
27 - 9=
144 - 12 =
77 =11 =

21 +7=
64 - 8=
36 +-9=
132 - 12 =

33 11 =

49 +~ 7 =
88 -8 =
54 -9 =
120 - 12 =
99 =11 =

63 +7=
48 - 8 =
63 +9=
108 =12 =

11 +11=




My Work

Monday

Tuesday

Wednesday

Thursday







